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BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

June, 2014 

LIFE SCIENCE 

LSE-10 : ANIMAL DIVERSITY-II 

Time : 3 hours 	 Maximum Marks : 75 

Note : Question no. 1 is compulsory. Attempt any six 
questions from question no. 2 to 8. 

1. Fill in the blanks : 	 1 x15=15 

(i) 	Papillary ducts of Bellini are found in 

(ii) Androgens are secreted by 	cells. 

(iii) Mechano receptors are used for 
sense. 

(iv) Haversian system is found in 	 

(v) When teeth are fused to jaw bone it is 
called 	 

(vi) Calcitonin is secreted by 	grand. 
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(vii) Common name of Heloderma is 

(viii) Specific learning at an early age is called 

(ix) Lemurs are found in 	 

(x) Common name of Dasypus is 	 

(xi) Chicks born with fur and eyes open are 

(xii) Flightless bird Rhea is found in 	 

(xiii) The arboriform respiratory organs are 
found in 	fish. 

(xiv) 'Trapezium and trapezoid are the part of 

(xv) Trigeminal is a 	 nerve. 

2. Differentiate between the following pairs : 2 — x 4=10 
2 

(i) Altruistic and Co-operative behaviour 

(ii) Cursorial and Scansorial locomotion 

(iii) Hagfish and Lamprey 

(iv) Sympathetic and Parasympathetic nervous 
system 
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3. Write short notes on any two of the 

following : 	 5 x 2=10 

(i) Metamorphosis in Ascidians 

(ii) Fixed Action Pattern 

(iii) Marsupials 

4. Explain structure and function of uriniferous 
tubules with suitable diagram. 	 10 

5. (i) Draw neat and labelled diagram of pectoral 
girdle of rabbit. 	 5 

(ii) Write briefly on migration and navigation in 

birds. 	 5 

6. Write two distinguishing characters of each of 
the following : 	 2 x 5=10 

(i) Urochordata 

(ii) Echineis 

(iii) Classical conditioning 

(iv) Lateral line 

(v) Lymphatic system 

7. Write notes on the following : 	 5 x 2=10 

(i) Bioluminescence in fishes 

(ii) Echo location 
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8. (i) Describe the structure of stomach in 
ruminants. 	 5 

(ii) Draw neat and labelled diagrams of T.S. of 
mammalian testis or ovary. 	 5 
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